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3. If f(z) = 2 4 3z. then f(2) =
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1. Using Cramer’s Rule (o solve the following systems of linear equation. (3pts)

T—-y+z=-2
2r 4+ 3y tdz=1
r+y—z=0

2 2 4 -
2|_.¢:1A=(a ).Bz( ).zmt:l():(:,‘l ;)be2x2mamcuamhum.

et - b 2
24 - 3B =4C.
Find the values of a, band ¢ (3pts).
2, ifz<4
/,_..—3. Flndmevaiueo[ksudlﬂmtf(:)={k_r,_5. lr:)“lsconUnumu{
(3pts)
A ] 1
4. UA= tll -;3 03 , then find (4pts)

(a) Cofactor of matrix A () Determinate of A by using cofactor
expansion

(b) Adjoint of matrix A (d) Inverse of matrix A (A7)
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